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Answer all the questions

Wrong answers will be penalized.
I. Rename this file with your first and last name.

II. Check the desktop of your computer and temporary directory if there is any file related to this course saved.

III. Only the answers on this word file will be graded.

IV. Write your first and last name to the footer.
V. Save the file on your computer (temporary directory of your computer)

VI. ,α=0.05, unless otherwise mentioned.
VII. Do not forget to upload this word document to the system.

VIII. Taking any (mobile) communication device to lab is considered act of cheating.

Write your name here : 
________________

Question 1:  Use the Eviews file question_1.wf1.   Consider the following model
Log(psoda) = β0 + β1 prpblck + β2 log(income) + β3 prppov + u
a. What is the interpretation of the estimated coefficient for β3?
b. What is the test statistics for Ho:  β1 = 2 β3, β2 = 4 versus Ha: not Ho?  Do you reject the null?

c. Perform White’s hetorkedasticity test.  

d. What is the OLS estimate of the model with right standard errors?

2. (i) A model to estimate the effects of smoking on annual income (perhaps through lost work days due to illness, or productivity effects) is
Log(income) = β0 + β1 cigs + β2 educ + β3 age + β4 age2 + ut
where cigs is number of cigarettes smoked per day, on average. What is the OLS estimate of β1 and how do you interpret?
(ii) To reflect the fact that cigarette consumption might be jointly determined with income, a demand for cigarettes equation is 

cigs = γ0 + γ1 log(income) + γ2 educ + γ3 age + γ4 age2 + γ5 log(cigpric) + γ6 restaurn + vt
where cigpric is the price of a pack of cigarettes (in cents), and restaurn is a binary (dummy) variable equal to unity if the person lives in a state with restaurant smoking restrictions. Assuming these are exogenous to the individual, what is the interpretation of estimated coefficient γ6? 
(iii) Estimate the reduced form for cigs (first stage regression). Are log(cigpric) and restaurn significant jointly  in the reduced form? 
(iv) Now, estimate the income equation by 2SLS. Discuss how the estimate of β1 compares with the OLS estimate. [Hint: two endogeneous variables are log(income) and cigs]
(v) Do you think that cigarette prices and restaurant smoking restrictions are exogenous in the income equation? [Hint: Is cigs endogeneos variable in the income equation]
3. Estimate the following equation
Δgfrt = γ0+γ1 Δpet + γ2 Δpet-1 + γ3 Δpet-2 + ut
Where Δgfrt  saved as d_gfr, Δpet  as d_pe_1, Δpet-1 and  Δpet-2 d_pe_2 in the Eviews file.

a. Perform the DW test for positive autocorrelation

b. Perform the DW test for negative autocorrelation

c. Perform  the Breusch-Godfrey test to verify this for the first degree autocorrelation (p=1). 

d. What do you think the degree of autocorrelation is?
e. What is the OLS estimates of the equation with right standard errors

f. Consider that p=1, the what is the single stage (F)GLS estimation of the model?

g. Consider that p=1, the what is the iterative (F)GLS estimation of the model?
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